Name _______________________________________Period _____________ 

ISOTOPE WORKSHEET 

____________________ 1. What particle has a +2 charge and 12 protons?

____________________ 2. What particle has 30 protons and 28 electrons?

____________________ 3. What particle has 47 protons and a +1 charge? 

____________________ 4. What particle has 98 electrons and 98 protons? 

____________________ 5. What particle has 50 protons and 46 electrons? 

____________________ 6. What particle has 18 electrons and 16 protons? 

____________________ 7. What particle has a -3 charge and 36 electrons? 

____________________ 8. What particle has 89 electrons and a +6 charge? 

____________________ 9. What particle has 44 protons and 44 electrons? 

____________________10. What particle has 34 protons and 2 more electrons than protons? 

____________________11. What particle has a +1 charge and 87 protons? 

____________________12. The dipositive ion for vanadium (#23) would have how many 

electrons? 

____________________13. The trinegative ion atomic number 15) would have how many 

electrons? 

____________________14. The unipositive ion of potassium (#19) would have how many 

electrons? 

____________________15. How many protons would the tripositive ion of aluminum (#13) 

have? 

____________________16. What would be the ratio of protons to electrons in the uninegative 

ion of chlorine (#17)? 

____________________17. How many MORE electrons than protons would the dinegative ion 

of selenium (#34) have? 

____________________18. The chemical configuration for an unknown ion is 53 X-1. What 

element are we talking about here? 

____________________19. The chemical configuration for the dinegative ion of an unknown is 

63X-2-. What element is it? How many neutrons? How many 

electrons? 

____________________20. How many electrons are there in the unipositive ion 

of Cs-136 (#55)? How many neutrons?

____________________21. How many neutrons are there in an atom of cobalt-60 (#27)? How   many electrons? How many protons?
____________________22. How many neutrons are there in the trinegative ion 

of As-71 (#33)? How many electrons? 

____________________23. How many protons are there in the dipositive ion of 

Pb-210 (#82)? How many electrons? How many 

neutrons? 

____________________24. What does the term Sr-80 mean? (Sr is #38)? How 

many neutrons does it have? 

____________________25. Which is heavier U-234 or U-238? How do you know? 

____________________26. If a particle has 18 neutrons, a charge of -3 and 18 

electrons, identify the particle. 

____________________27. Write the chemical configuration for a particle which 

has 18 electrons, 18 neutrons and a charge of -1. 

____________________28. Write the chemical configuration for a particle 

whose atomic number if 17, has 19 neutrons and has 

no charge. 

____________________29. Write the chemical configuration for a particle 

whose mass number is 182, has 71 electrons and 

109 neutrons. 

____________________30. Write the chemical configuration for a particle which 

contains 38 electrons, 46 neutrons and 40 protons. 

____________________31. Write the chemical configuration for a particle 

whose atomic number is 92, whose mass number is 

238 and which contains 86 electrons. 

____________________32. Write the chemical configuration for a particle which 

contains 45 neutrons, 34 protons and has a –2 charge. 

____________________33. Write the chemical configuration for a particle which has a mass 

number of 113, contains 46 electrons and 48 protons 

____________________34. Element X is known to exist as 4 isotopes which occur in the 

following percentages of abundance: 45.50% has a mass of 

310 amu; 1.12% has a mass of 303.4 amu; 26.78% has a mass 

of 307.8 amu and all the rest of the isotopes has a mass of 

315 amu. What atomic mass should be placed on the Periodic 

Chart for this element? 

____________________35. Zinc exists in nature as five isotopes: Zn-64 occurs 48.89%; 

Zn-66 occurs 27.81%; Sn-67 occurs 4.11%; Zn-68 occurs 

18.57%, and Zn-70 occurs 0.62%. What atomic weight 

should be placed on the Periodic Chart for Zinc based on 

these figures?
